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m What is the interval of convergence of the Maclaurin series
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@ For what values of = does f{x) equal the sum of the Maclaurin series?
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9\ (a) Find the Maclaurin series for the function f(z) = z cos®z. Write the result in closed form—as a sum
S e ana™. (Hint: cos?z = (1 + cos(2z)).)
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! 3% (a) Find the first 5 terms of the Maclaurin series of the function f{z) = (1 — 3z%)~1/3,
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If the first 6 terms of the Maclaurin series of the function flz) =
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find the first 7 terms of the Maclaurin series of the function fz) = arcsin(z).
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‘3. he Maclaurin series for f(z) = cosz, E AT converges for all 2, —co < £ < oc. Show that the
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series converges to f(z) = cosz for all z.
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Q@Find the Taylor series expansion for f(z) = In(z) at a = 4. Write the result using summation notation.
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